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Instruction to Candidates

1. T UET & 3cal RoNT | T 96T & Tl 3cal Y ar 3k e STaaT |

Answer all questions. Each question carries TWO marks.

2. G TET-FoTSG TFR & T2 § | Sec¥ el &1 918 HT.UH.IAN. Sea-gReaan 3 &1 6w
STTe AR |

All are objective type questions. Answers are to be given only in the O.M.R. ANSWER
SHEET provided.

3. &S UTe A fohdlT U T 319# <1 T AT 7 3{3ISiT 916 &l &1 AT FHST ST |

In case of any doubt in the Hindi Text, English Text only may be followed.

1. If¢ a-b=3 TAT a3-b3=117, Al a+b
If a-b= 3 and a3-b3=117, then a+b is equal to

A)5 C)9
B) 7 D) 11

2. faAFT A & &l AT 0.0000000875 F SRTEI el g2
Which one of the following is NOT equal to 0.00000008757?

A) 8.75 * 107 Q) g * 106

B) 875 * 107 7
) D) E* 107
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3. a1 GEA3T @ AET 9 § AU VAR 18 Bl 3oich cashAl &1 TaT fohelall
glam?
The sum of two numbers is 9; their product is 18. The sum of their reciprocals is

A)l—lo C) 2

1

B) . D)4

4. T TISST T $[GN3 &I 3HeIUTT 4:6:7 &, Y

The sides of a triangle are in the ratio of 4: 6: 7, then

A) I ARV 38T G191/ The triangle is obtuse-angled
B) dg FZI;H’&:I'Uﬂ'ZI' ﬁfﬁiﬁ ?I?IT/The triangle is acute- angled
C) 98 FHPIUNT ﬁfﬁiﬁ 89T / The triangle is right- angled
D) U ﬁﬁiﬁ 3GHT g/ The triangle is impossible

5. logl+log10+log100=

A)3 C) 10
B) 1 D) 111

6. Th WM y=4-2x x-378T W Fgl Ildcoe Hlal §?

The liney =4 - 2x intersects x-axis at

A)1 C) 4
B) 0 D) 2

7. TG 2x-12x+m =0 T Teh Hel 3T o1 3T &1, dl m T AT &A1 gIAM?

If one root of 2x2-12x+m = 0 is half of the other then the value of m is

A) 4 C) 12
B) 8 D) 16
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8. 2m I UG 10m 3918 dTel THeisY (Sefel) I 3TcdeT fohlell gIom?

What is the volume of a cylinder having a diameter of 2m and a height of

10m
A) 62.8m?3

B) 31.4m3

9. 22500 & FIHeA T Al fohelell IM?
What is the value of square root of 225007

A) 225
B) 150

10. 45° = I2T=/radians

A) /6

B) /4

C) 47.1m3

D) 15.7m?

C) 160
D) 180

C) /3

D) /2

11. AT &I Blegige @ T 7 dcelel & v a1 FF g2

What is the formula used for converting temperature from Fahrenheit

to Centigrade
(A) C=(F-32)9/5

(B) C=(F-32)5/9

(C) C=f*9/5+32

(D) C= F*5/9+32

12.1 fRam. eIy &1 d9AT # 1°C T Jeoid ol & foIT 379ege AT it

AT AT Shgellal &7

The quantity of heat required to change the temperature of 1 kg of a substance by

19C is called its

A) faferse AT / Specific heat
B) Hehel 3ol / Total energy

Q) e AT / Latent heat
D) GoIdsT 3SAT/ Heat of fusion
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13. WIYRVT Ugord & FHI @y fhg oX Ao e 82

The time period of a simple pendulum depends on

A) STF ST geTHTST / Mass of the bob
B) arelel T 3TTATH / Amplitude of oscillation

C) Ugeld I oI9S / Length of the pendulum
D) 3uder Hef / All the above

14, AFATATET H T ST eafd T TIRUT AT HT GhdT?

Which of the following cannot transmit sound?

A) 9Tt / Water C) 91 / Metal
B) fafSra 3 / Inert gases D) faTd / Vacuum

15. 991 ¥clos HEAT fohdehr Tae &

A large Reynolds number is an indication of

A) YRR™T 9a1g/ Streamline flow C) BT warg/ Steady flow

B)Wﬁ'ﬂ' 9dig/ Laminar flow D) 3=d 9a&Is¥ Ydlg/ Highly turbulent flow

16. fAaTd & [FdY ga FI AT S W 3T FIYUATH W FIT THG BIam?

What will happen to boiling point of a liquid when it is heated under vacuum?

A) FIUdTh aﬁ?'lT/BoiIing Point increases
B) FIUdTeh ©E3M/Boiling Point decreased
C) FaUATh H Tﬁé’ ol sTal/No change in the boiling point

D) FFYdieh ¢ AR F& FHY dle TN/
Boiling point increase and after sometime it decreases

17. eATi@d verat & & fohgept Areiehdr a[oT e &2

Which of the following material is more conductive

A) ﬁ'@lT/Copper C) &ig/Iron
B) W/Aluminum D) T¢Il Tlel/Stainless Steel
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18. el T dg [UTerol fSTfeh HROT YRT i HI el g HIcl

The fluid property due to which, mercury does not wet the glass is

A)TVO" daiTd/ Surface Tension Q) ?i'\':i\_rliﬁ/ Cohesion

B) RITTdT/ Viscosity D) 37THsIe/ Adhesion

Isotopes are atoms having same

A) SEIHTT HEIT/ Mass number C)QTFITUI GcdHATA/ Atomic Mass
B) o-q‘\g:fd $T IEIT/ Number of D)qTH'I'UI TEAT/ Atomic Number
Neutrons

20. J-2JS AAAICT & 39N FAT A9 & fAw fhar Srar g2

U-tube manometers are used for measuring

A) TAXT 3T/ Level difference C) &1 37X/ Pressure difference
B) @I/ Pressure D)ﬁ-lﬁ‘l?f/ Vacuum

21. T (F¢H) & JFT & U g T 3UAT AT ST ThaTm £
For pumping slurry, one can use a Pump
A) IcITTAHY/ Reciprocating C) 319ehdl/ Centrifugal
B) cefdc (STATSHIH)/ Diaphragm D) ardI/ Pneumatic

22. T ST &1 ATl AT 3h &I 3fa &ar gl
The schedule number of a pipe is an indication of its
A) TR/ Size C) 9Ty ©cd/ Material Density
B) ®&TdT/ Roughness D) AeTs/ Wall thickness
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23. T geF Foll Hiel T YA HAT AT &

A Fluid energy mill is used for

A) FTea & foT/ Cutting C) 3fa FgeA drEa & faw/

ul indi
B) 91l & iU/ Grinding ragrincing
D) @&l & flu/ Crushing

24. GIETUHS (diell ST FART SUTIeNT) &l alfoliodes & O fohg =1 & J=r

ST 872
P.T.F.E. (Poly tetra fluoro ethylene) is commercially known as
A) a*an—orréa/ Bakelite Q) CFellel/ Teflon

B) o=/ N o
) / Neoprene D) ATt/ Nylon

25. Cp/Cv &T 3T ¢
Cp/Cv is termed as

A) FeasH fE2RTeh/Adiabatic Constant C) dsX TEAT/ Weber Number
B) AT TEAT/Mach Number D) 9ISl T&AT/ Prandtl Number

26. FATAIT@T H & &lT AT dcd Al 6?

Which of the following is not an element

A) BT/ Gold

B) TEY/ Silver

C) IefATHATH/ Aluminum
D) fidel/ Brass
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27. A=faf@a & @ 9 a1 v FEfas IifaE &2

Which of the following is an organic compound

A) FIE STSAHTFATSS/Carbon dioxide

B) STl CCT FeiRI33/Carbon tetra chloride
C) FTST ATATFETSS/Carbon monoxide
D) SUTS 3Teahlgel/Ethyl Alcohol

28. frdY gerel & arIHATT F o W 3T WATAAT W FAT AT gem?

What will happen to viscosity of a material, when the temperature of the material is
increased

A) AT AT HATeT a‘%TIT/ Viscosity value increases

B) AT AT AT TcaT/ Viscosity value decrease

C) IATAdT ATeT HHToA 83T/ Viscosity value remains same

D) RATAAT AT d¢am 3R O FAY 4G gcaT/

Viscosity value increase and after sometime decreases

29. g 31fasT A goi & fav g 31fFer A S 39T fohar ST &2

Which fire extinguisher is used for fighting with electrical fire

A) BIHA/ Foam
B) ShlaeT glgaﬁamﬁ-;t/ Carbon dioxide
C) > {H™ATAe 9T38Y/Dry Chemical Power

D) §IST 37%cl/Soda Acid

30. Aff@a® O Fia a1 Ty gaa= &2

Which one of the following is a hazardous material

A) B3I FARTSS/Sodium Chloride C) IRAT/ Urea
B) AT S/ D) eax FRISS/ Silver Chloride

Ammonium Nitrate
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31. T T pH AT YT T 30w HFNT TT&T AT &2

Which pH value represents more Acidic nature of the material

A) 1 B) 4 C)7 D) 14

32. U oieX Aoad & Aol T I Al J&IT I glcdal I FAT $gd g7

Number of gm moles of solute dissolved in one litre of a solution is called its

A) JedHTT HRY/Equivalent Weight C) AT/ Molality
B)ﬂlﬂliiil/ Molarity D)o_-l'I?ﬁFIT-lT/ Normality

33. fAeAfaf@d & @ HlT AT deq Feq AfFATel o Jores fe@rdr g2

Which of the following elements shows the strongest reducing property?

A)Li B) Na C)B D) Be

34, fAfaf@a & a=ia g waAfes Iifas &2

Which of the following is an aromatic compound

A) 3?3?{/ Ethane Q) Soilel/ Benzene
B) W91/ Propane D) TfATelsl/ Acetylene

35. Teh Sl I, ABFAT TURe, T 3UIET fhaT SATam §

A cyclone separator is an engineering device that is used to

A)TTEIAT 9R@gal/ Transport materials
B) &hUT FTE[W/ Segregate particles
Q) Eaasr I [FI991/ Control switching devices

D) ATseT thereel/ Model fractals
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36. el T TS A9 [AAATS & Aol HET A FIRAPT Y&l el 1 AT 7Y g2

Baffles provided on the shell side of a shell and tube heat exchanger are meant for

A) TS T HERT &1/ Providing support for the tubes.
B) dTT TATATAROT H HUR/Improving heat transfer

C) Ial a’ lbl m‘/ lal & lbl

D) TS 1 RIS Bl ¥ AT AT WIes gd Al [ASHIAAT & =T 8/

Preventing the fouling of tubes & stagnation of shell side fluid.

37. U TasgATEr Ao &

In a neutral solution

A) H+ 3T H?:Ijﬂﬁ?‘l?f gl &/ H+ions are absent.
B) OH- 3Tl 3-1@?@21?[ gl &/ OH- ions are absent.
C) H+d OH- QM &H U TG & fehe] FHIT HTGOT & /

H+ and OH- ions are present in very small but equal concentration.

D)ﬂﬂﬂ?—fﬁ o Elflé #AgT / None of these.

The chemical nature of an element is independent of

A) 3% YA HEIT/ Its atomic number

B) 3TH H’??:I’Z‘( qrelel a7 soicl'g\fo-l $r EIAT/ Number of protons or electrons present in it

C)3TH H’f?g?\' o-élc\;\fo-l I FEIT/ Number of neutrons present in it
D)SCI??ID}'?T i/ All of the above
39.Teh GgoT AfAfRaT &

A combustion reaction is

A) Teh FeATeYT 37fATHAT/ An endothermic reaction

B) TUsh SSATEYT afﬁm/ An exothermic reaction

C) Tsh RS afﬁm/ An autocatalytic reaction

D) Ush Yahrr I 3TTRTRAT/ A photochemical reaction
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40.360 ml 9T H 40 m 3fedhlgd THATIT AT g1 59 AT HI AT
gfaerd AT HIfaT]

40 ml of alcohol is mixed with 360 ml of water. Calculate the volume percentage of
this solution

A)10  B)9 ()12 D) 20
s.fFc & Ay F @ar ¥

Cement is a mixture of

A) Aisge fAfehe T fSed#d/ Sodium silicate & Gypsum
B) $ferrasr wr&fae @ ¥d/ Calcium Carbonate & Sand
¥ @ iilaﬁl/ Sand and Clay

D) oA 3HegfAsic/ Calcium aluminates & Silicates

42. 37 Bolel eh duT WY o9 & T IHATT: ... SR &7 39ANeT fHar
ST g

dryer is commonly used for wet filter cakes and lumpy solids

A) T/ Spray C) gH/ Drum
B) ¢/ Tray D)H??ﬁﬁclj_cf §8/ Fluidised Bed

43. 999 F°AT JIfAFas & 37 g fiad o [(uda fear & yarfga gia g,
SERCCIIETCIC I

When hot and cold fluid flow in opposite directions in heat exchanger, then flow is

called as
A) Y& Ydlg/ Direct current C)$I3' ¢Y Ydrg/ Counter current
B) TATATR Udrg/ Parallel current D) &g Ydlg/ Co-current

44,3k §% § Dryiceis

A) BT HleeT HAANFATSS/ Solid Carbon monoxide

B) &1 i 37Fa1/ Solid Carbon acid
C) JH FIaA CeFARTSS/ Solid Carbon tetrachloride
D) 31F SIeleT SS3HTFATSS/ Solid Carbon dioxide
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45. fafArse I&ca T g B
Specific gravity is expressed in units of

A) g/ml C) IS SIS Agl/ Has no units

B) Kg/m3 D) Kg/cm3

46. ITATAROT H 3TTedT T HTEAT A dlel IT I FAT gd 87

A device used to measure the amount of moisture in the atmosphere is called a

A) 8T88IHICT/Hydrometer C) TTAHAIATEI/Anemometer
B) BTSAIHICY/Hygrometer D) SRIHTeX/Barometer

47.3he slgeh H 39INET fhT ST dTell Ueh gd o1Sclolel &l FASs 8idr g
oad IR &1 T 30 YR BIaT g: 30.4 % oI8cielel  d2dT  69.6 %
ISl | TG ST MT0aeh AR 92 §, ol 3HehT 310G A FAT gHEI?

One of the liquids used in rocket propellant is an oxide of nitrogen having the
following composition by weight: 30.4 % Nitrogen & 69.6 % Oxygen. If the molecular
weight is 92, what is its molecular formula?

A) N204 C) NO
B) NO2 D) NO+NO

48. [AFATARAT & @ i AT A I FTATshdT g2

Which one is a Chemical Reduction Reaction?

A) Tch ey H e giFAafad T / Addition of oxygen to a substance
B) Uch Jerdy H slsg\ldo-l gclal / Removal of hydrogen to a substance

C) U gy H 613313!3 FfFATIT ST / Addition of hydrogen to a substance
D) AY9YCT Qﬁm/ Decomposition Reaction

49. FeHIReh HFel Ygai=iw

Select the sulphuric acid

A) H.Sos C) HNos
B) H,S D) HSo4
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50.

Ueh 3T 8T §

Anion s

A) &7 AT / Positively charged

B) FUT AT / Negatively charged

C) d<¥Y / Neutral

D) &7 3TAfd IT FOT AHTAfAT / Either positively or negatively
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